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woxmmas|  BE | 208 |RIAREASHERBREERE ARAGEPRAR 5] 10 0 0 7 3 0 3.9%[" 0.1%
woxamas| KEE | 208 | ABRAE2REAR = 10 0 0 2 7 1 3.9%[" 0.1%
wormnen| BRE | SEME [MRERAARRE ABRARR = 9 0 1 4 4 0 350" 0.1%
wormnen| BIEE | SRME |[HE@IbEAARERE ARRAEAR & 8 1 0 4 3 0 3. 1% 0.1%
wormnen|  BRE | SRME | ARRASRE G 8 0 0 8 0 0 3. 1% 0.1%
os-oaxmmks| hRE 1A |MARTEEA  KIRFFLRRRE KB&@%?JV\MZD?*E—S@ 33 45 103 80 2802 86.6%| = 3 gﬁl
wormnan| REFE | 200 | XBATTRE 0 139 14 18 52 30 25 3.9%[1 1.7%
wormnsn| BRE | 200 [MufmEc AR AREHMARERT >S5 — [ 109 7 11 33 2 34 3.1t 1.3%
wormnan| REFE | 200 |EREAENSE ARERRR I 99 9 7 28 14 31 2.8l 1.2%
wormnsa| BEE | 20m [#&@ibi ABRBHEARKAE2HIRE ] 75 6 6 10 14 39 PRI 0.9%
wormnsn| BRE | 200 |ERABAKAMAEASATIRE b 2 3 4 4 4 7 0.6%[" 0.3%

RER | IEME [HEEREALES BIhEHRE i 14 0 1 2 1 10 0.4nfr 0.2%
wormnsn| BAE | SRME [RREREAAESE BZERE 4 0 4 0 0 0 0.1% 0.0%
wormnsn| £BE | SRME |[ERAABNE BRZRARE 3 0 0 1 2 0 0.1% 0.0%

AR | SRM% [EAZAGTE RmAk 2 0 0 2 0 0 0.1% 0.0%
wormnss| XIFE | SRME |[BXRISRE 1 0 0 1 0 0 0.0% 0.0%
woxmmes| BEE | RME |EFBAMENLAI—JRREN - TnRELHER 1 0 0 0 1 0 0.0% 0.0%

FRE | IEME |REmE 1 0 0 1 0 0 0.0% 0.0%
wormnss| BAE | SRME |[mESRAR 1 0 0 1 0 0 0.0% 0.0%
wormnsn| BAE | SRME [HREREAARE RAGAE 1 0 0 1 0 0 0.0% 0.0%
o] BEEHE | 248 | ABHLATEFHRERR [— 17 17 36 47 79 ]l 2.44%
os-ouxmmma| {EHFE 1A AR TBGEAKERIAREE KREMEY - waERtwy s — |IEEETTI60 8 10 33 20 89 36J0% (1 2.0%
wooxmmne| MEHE | SRMS |XBBERAR = 37 3 8 10 6 10 8.3%|! 0.5%
wormnen| EZIIE | SRME [RERERLA BES BARAE = 31 1 7 14 9 0 7.0%[f 0.4%
woomme| RESE | 208 |EREARE RESHARR [ 6 1 0 5 0 0 145 0.1%
woxmmne| BRE | RME |EREA RS LAE=AR [ 6 0 0 6 0 0 145 0.1%
wormnen| FHE | JEME [HRERLA BEZ GESRR b 2 0 0 2 0 0 0.5% 0.0%
wormnen| AESE | SRME |EREACARARAR b 2 0 0 0 2 0 0.5% 0.0%
wormnen| BRE | SRME |[ERAASA TR ANSIRE b 1 0 0 1 0 0 0.2% 0.0%
wormnen| GEE | SRME [ERAABLE HUEE b 1 0 0 1 0 0 0.2% 0.0%
wormnen| BEE | SRME |RAESRARER b 1 0 0 1 0 0 0.2% 0.0%
woxmne| FHE | RME |ERZASEHBE RSGAAR b 1 0 0 1 0 0 0.2% 0.0%
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BRRS EREM Bisin st

TR MRS | G RS ot | BRR | oM || e | wem| SRR | ae=

0ER | mEm | 248 | XBRATEZHHERARE 0 184 13 32 54 33 52 26601 2.2%
0BR | Bem | 1% |musewmik [ 106 4 3 34 32 28 15.30[1 1.3%
0Bf | wEm | 4% |motEmk [ 100 7 7 18 26 42 14.54[1 1.2%
0BR | wEm | 26aM |damiEis BBUE ARKEERRERR [ 95 10 4 40 22 19 13. 741 1.2%
01BR | mETm | 148 |[RARIABEA mIREDERRE [ 57 4 4 18 3 23 3.2%f 0.7%
oBR | ®E® | 4% |EEImk [ 38 1 3 13 21 0 5.5 0.5%
0B | wETh | EME [EREAENE REBNEHR i 32 0 4 8 10 10 4.6 0.4%
0BRe | mEm | oam |FEaTERER 0 28 0 6 10 12 0 4.1 0.3%
0BR | Bom | 268 |[RIARAABIAERBARIRLERE S— | 20 6 0 0 0 14 2.9%F 0.2%
0Ef | ®RET | IRME |EREA EWZ HRAR I 15 0 15 0 0 0 2.2%)F 0.2%
0ER | Bem | 24K |HaEREAWEE BEAT/ALER i 11 0 4 5 2 0 1.6%) 0.1%
0Ef | Bem | RME |Eewniank 2 0 0 2 0 0 0.3% 0.0%
0B | wEm | SEME [HaEMAA BELR FLR 2 0 0 0 2 0 0.3% 0.0%
0BR | wETm | SEME |ARAZEEARERR 1 0 0 0 0 1 0.1% 0.0%
w=8 | BET | 268 |AREREHAERRE 0 187 23 19 41 39 65 79301 2.3%
w=B | BET | 250 |[HREMAAELZ BRAR [ 57 5 3 7 18 19 15. 04| 0.7%
w=E | Bam | oW |EREARAZ E-RAEAR i 30 0 0 9 21 0 7.owf 0.4%
W=B | AT | IRME |[EREARGE DORGEAR i 27 0 1 5 0 21 710 0.3%
2= | Bmm | 26w |EEAtTER b 23 4 7 2 2 8 6. 1% 0.3%
w=8 | wAT | 260 |#amEihiABBUEARREAERRARRE i 7 0 0 8 4 0 3.20) 0.1%
w=8 | BET | 260 |[HaEmEAMIEE LERARR I 11 2 0 4 5 0 2.9%]F 0.1%
w=8 | Bmm | RME |ERmEARER —HAR I 3 0 0 0 3 0 2.1%) 0.1%
W=B | AT | RME |[EREAESE AlRaRk I 6 0 0 6 0 0 1.6%) 0.1%
2=8 | AT | RME |EREAEWRZ ETAR I 6 0 1 0 5 0 1.6%) 0.1%
©=B | BEm | RME [XREREAXTE=BRARR 4 0 0 3 1 0 1.1% 0.0%
w=8 | xAT | 3EME |EREARARLARE S CALRRE 3 0 0 3 0 0 0.8% 0.0%
W=B | AT | IRME |[EREA BL2 EBoRk 2 0 0 2 0 0 0.5% 0.0%
w=8 | BET | 260 |[HEEREAGERALY 5 ERk 2 0 0 2 0 0 0.5% 0.0%
w=8 | %AT | SEMES |[EREARGERGERARR 1 0 0 0 1 0 0.3% 0.0%
03LAN | BAm | 24K |HEEHATHERR G 384 27 27 52 54 224 78.5%|0 4.7%
0iAm | ¥Om | 268 |MEEHATRAERELS— [ 93 8 4 18 28 35 11841 1.1%
AR | fAm | 18T |mHUshLmR [ 51 3 3 21 5 14 6. 4%l 0.6%
A | ¥Om | 2688 |"FU-voRERRES RTRARR [ 49 2 6 13 5 23 6. 20! 0.6%
AR | BT | SEME [HREMAAENE ERAR 0 38 4 1 13 6 14 4.8 0.5%
AN | ART | EME [EREAENE HHRENERR i 35 3 5 6 14 7 4.4 0.4%
AR | ¥Om | 3EMS [HEERAADE TORC SRR i 3L 0 1 28 2 0 300 0.4%
03LAN | BEIIT | RME |HEEHATEERE b 23 0 11 3 9 0 2.9%F 0.3%
0iAm | fhm | 268 |ErEEmES— i 14 0 0 8 4 2 1.8%)f 0.2%
AN | At | 260 |ERABARAMAEAZ WALAFR i 14 0 0 7 7 0 1.8%)f 0.2%
03iLAR | BEINT | 3EME |EREABLRMARR i 13 1 0 5 7 0 1.6%) 0.2%
0ILAN | mEHT | SEME [HREMAARES BESROESIARRE i 3 0 1 4 3 0 1. 0%fF 0.1%
AN | %Bm | SEMES [HaERAARER XHAEkR I 7 0 2 5 0 0 0.9%] 0.1%
03LAN | AET | RME |EREABHE XRTRER 5 0 0 5 0 0 0.6% 0.1%
03LAN | BAT | RME |EREARAR GYLELTA—RRAESL 4 0 4 0 0 0 0.5% 0.0%
03kAM | FOT | RME [HEEREA TFOEHESRER 4 0 0 0 4 0 0.5% 0.0%
03iAR | BEINT | SEME |EREAKER BAE 4 0 4 0 0 0 0.5% 0.0%
03iAn | BEINT | 3REME |EREA—hE BARR 4 0 1 2 1 0 0.5% 0.0%
03iAR | BENT | 3EME [HaERAALE: BEIEHRR 3 0 0 3 0 0 0.4% 0.0%
0ILAN | mEET | SRME |EREARNE LAREHAR 2 0 0 2 0 0 0.3% 0.0%
03LAN | FIET | RME |[HaEREALE: EBEHAR 2 0 0 2 0 0 0.3% 0.0%
AR | FET | SRMES [HaEMAAEER EERkR 2 0 0 1 1 0 0.3% 0.0%
0iLAn | BENT | SRME [HaEmAALLE  Flimk 1 0 0 1 0 0 0.1% 0.0%
o4chialm | AR 183 [\BHIRFR 1 99 9 20 26 20 24 28.4%|! 1.2%
AR | BART | 18T |RARIAREADIRARERES 58— [ 96 8 11 23 27 27 27-6h|1 1.2%
0B AA | RART | RME |EREAEHE GOEERR i 65 6 6 19 14 20 18. 74| 0.8%
udAn | BT | SEME |EREARNE \RENZRARR [ 57 6 2 22 12 15 16.4%|) 0.7%
AR | RART | 2681 [HEEMAAELRESE -k I 11 0 0 8 2 1 3.20) 0.1%
AR | BEG | 14T |naeRmRE i 3 0 2 4 2 0 2.3%)f 0.1%
AR | RART | SRME |EREAAARBEARKARR 4 0 1 3 0 0 1.1% 0.0%
udAn | BT | RHE |ERR/\RGARK 4 0 0 3 1 0 1.1% 0.0%
AR | BART | JEME |BERmR 2 0 2 0 0 0 0.6% 0.0%
AR | BART | SEME |EREAZER BEmE 2 0 0 2 0 0 0.6% 0.0%
OSEARN | KRBT | 20K |GEATRE [0 194 19 18 46 34 77 52001 2.3h
05ETAIN | PR EH 1A |HARITEEA KR IHREEEARE U EDERE 52— | 50 12 5 8 4 21 13.4%| 0.6%
OSEAN | AREET| 260 |RIAEEAEIRRREARAERL S — i 35 0 5 8 16 6 9. anf 0.4%
osEAM | BEAT | 200 |HaEiEABBHEXRNE L2 EE AR 0 34 0 9 16 9 0 9. 1% 0.4%
osEAN | BET | SRHE [EREAENE ARENERR b 16 0 1 7 3 0 4.3%]F 0.2%
0sEmAN | DRET | RNE |EREABKE SRR I 15 0 4 10 1 0 4.0%)F 0.2%
oSEAM | BEHT | SEME |EMEAZERP LAk i 14 0 0 9 5 0 3.8%] 0.2%
osEmAN | HET | RME [HaEREA BAZ BARRR I 6 0 1 3 2 0 1.6%) 0.1%
OSEAM | HHED | 14T |numAEnERR 5 0 1 4 0 0 1.3% 0.1%
OSEAM | AREET| EME |EREAEER FnRamk 2 0 1 1 0 0 0.5% 0.0%
oSmAN | BAT | RME [EREASK—LE BLAKR 1 0 0 1 0 0 0.3% 0.0%
OSEAIM | KRBT SEME |EfuE AEAREARR 1 0 0 0 1 0 0.3% 0.0%
6B | BOAE | 260 |ROnEE. BRERRRSRE ARBIER || 119 2 14 31 43 29 29001 1.4%
0T | RAEE | 147 |[RARIABENRTIARERRTIAAERE S — || 105 8 9 32 28 28 26401 1.3%
6T | RHPE | 208 [HREMAAERSE LS FRARR [ 102 10 12 33 20 27 25601 1.2%
6T | BHRE | 20m |[H2EMAA AL BERARE b 26 2 6 8 10 0 6.5%]F 0.3%
06T | MHAE | 268 |[ROARAABIAERBIRTRIREL 5— | 16 10 0 0 0 6 4.0%)F 0.2%
6T | RHRE | SREME |ABUAAA RELRR I 11 2 1 7 1 0 2.8%)f 0.1%
0T | RAEE | RME |REBAR I 9 0 0 9 0 0 2.3%)f 0.1%
6T | RHHE | SRME [HaERAAAER AEEER 4 0 2 2 0 0 1.0% 0.0%
6T | BHEE | 260 |[HEEREAASAYA BBESRE 4 0 2 2 0 0 1.0% 0.0%
0T | AnERE| RN |EREARERATAR 1 0 0 1 0 0 0.3% 0.0%
06T | MALE | SRS |EREA AHE EBARER 1 0 0 1 0 0 0.3% 0.0%
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N EREM Bt it

TRERR) WEAH | R S ar | mmm | e MR | cpmame | mwes | sex [ Swe
RN | BRET | 1A% |muAMESERR [ 105 3 12 16 7 67 23001 1.3%
RN | mRm | 140 |[ARtiRaEmEs s— [ 97 11 3 9 7 62 22,001 1.2%
RN | BRET | 260 |EREARNE EURENERE i 58 4 6 21 15 12 13.2%]1 0.7%
uRM | mRm | 26 |momk [ 56 0 6 20 18 12 2.7%] 0.7%
RN | BEm | 14z |muazek [ 48 0 14 8 19 7 10.9%]1 0.6%
RN | REBT | 168 |YALSRAEREL 5— [ 47 3 6 16 11 11 10.7%]f 0.6%
RN | RART | 14% |RARmIRER i 10 0 3 3 4 0 2.34f 0.1%
RN | mmm | 14% |[#aEmEAERE EEORAR I 7 0 0 7 0 0 164 0.1%
RN | BRET | SREME |EREA AEE BRRRE 5 0 0 5 0 0 1.1% 0.1%
RN | mEmE | SRME [HaEMAA SHR KLAR 3 0 0 3 0 0 0.7% 0.0%
RN | mmm | SEME |EmEA Wiz Himk 2 0 0 0 2 0 0.5% 0.0%
RN | REGT | SEMS |EREA BRESRER 1 0 0 1 0 0 0.2% 0.0%
0752 M R 1AL |5 TBOR AKIRFFSIARHE KARBFEREL 2 — 1 0 0 1 0 0 0.2% 0.0%
woxeren| BBE | 1A% |ARHIRAERL DS — 0 177 19 13 41 33 71 3L 2.1h
womnan] LR | 2o |oBMEAA BWEAE EEWES LEmE || 106 9 16 28 25 28 18.8%[1 1.3%
woman] LR | 268 |[Ha@ibiABBUERERZAARRAAER T RRR | 85 9 9 24 20 23 15. 141 1.0%
eoxmmes| BURIE | 288 [INIFY R kR I 76 5 8 13 14 36 13.5%|! 0.9%
wosran| LK | RS |-MHMEA ERER [ 53 2 3 11 15 17 9.4 0.6%
womnan| EIE | SRME |XREEME [ 40 8 3 16 13 0 7.4 0.5%
wonan| RIE | SRES |EREmE i 14 1 1 8 1 3 2,54 0.2%
womran| RIE | 148 |[ARGLt=mEmkE i 3 0 0 0 3 0 1.4%f 0.1%
woran] LE | RES [HEEREAGBNE MABARRE 2 0 0 2 0 0 0.4% 0.0%
wosran| BBE | SRME [HEEMAATER BERR 1 0 0 1 0 0 0.2% 0.0%
woman] LK | SREE |mEmE 1 0 0 1 0 0 0.2% 0.0%
womes| EE | SEME |SREARR [ 58 0 3 25 5 25 23.50|! 0.7%
women] BBE | 288 |MITEGEAESERREEEREARRRE [ 52 1 10 17 11 13 2014 0.6%
08-02 KR ATEEER ic] =3 200 |ABRMEZEABREGFER BAREGHER U 46 6 5 7 8 20 1816%| 0.6%
womes] BBE | JRME [MERARRSHE BEEENRR b 39 2 3 7 10 17 15840 0.5%
wommen| ERIE | 268 |[REEMAAELSZ THRR b 22 0 1 2 19 0 8.9%" 0.3%
womas] KEE | 288 |[ABRAERRERR i 9 0 1 5 2 1 3.6%[ 0.1%
woman] BE | 288 |MOmEE M USERSEEERE ARAG EDRAR | 3 0 0 4 4 0 3.2%f 0.1%
wosas| WK | SRME |[HE@hAAKREIE ARGBERR I 6 1 0 2 3 0 2. 4% 0.1%
wowmes| EE | RES [HEERMEARES AHESRRE 4 0 0 2 2 0 1.6% 0.0%
womes] EE | SRME |KREAERR 3 0 0 3 0 0 1.2% 0.0%
os-oaxmmEs| PRR 1AL |AESITBOAA  KIRFF LA KB&@B&%?JV\MZD?*E—SLZ‘J 34 42 112 75 2861 87.1%r=:'1 ETﬂ
woxmnes| REZE | 288 | KRATTRE [ 126 9 18 46 35 18 3.5%]1 1.5%
womnan| BRE | 2688 |[ROAEAABIARREBARERLS S — [ 99 5 9 24 16 45 2801 1.2%
woman| REFE | 268 |EREAENE AREEAR [ 98 13 15 20 i 33 2,741 1.2%
woman| WRE | 268 |Ram@ibiABBUEARE A ESHIRRE i 77 7 6 20 15 29 2.1%]1 0.9%

FRE | 68 |EFABARFEARARATHRR b 24 5 4 3 6 6 0.7%[" 0.3%
womnan| REE | SRME [HEEMAALESE GLOEHRRE v 21 0 1 7 1 12 0.6%]f 0.3%
wowmnan| EHE | JRM% |EREAANE AANSRARRE i 11 0 0 5 6 0 0.3%] 0.1%

WRE | SEME |[H2EMAAKER RZERR 5 0 3 2 0 0 0.1% 0.1%
womnss| RAE | SRME |[EREAGTE RARE 2 0 0 2 0 0 0.1% 0.0%
womran] MEE | SRME |[EEBREANIAI_JhBE N O—JRHE MR 1 0 0 0 1 0 0.0% 0.0%

FEHE | 060 |ARTIATEZANERAR [0 195 19 15 41 43 77 ] 2.4%
os-oxmmms| {EFHFE IR AR TEEAKRI IAREE KRN - waEsters— |1 156 7 10 36 27 76 3515%|1 1.9%
wormnen| MEHE | SRMS |XRGERR [ 42 1 11 13 3 14 9.6%f 0.5%
wormmen| EZIIK | SRHE [HEEMAA BES BARAR i 15 2 4 8 1 0 3.4%] 0.2%
woomen| RESE | 268 |EREAGSE RESFARER I 9 1 0 8 0 0 2. 14 0.1%
wormnes| BRE | SRS |ERZAREE BERE 5 1 1 1 1 1 1.1% 0.1%
wornen| RESE | JRHS |EREACEEORAR 3 0 0 0 3 0 0.7% 0.0%
women| HEE | SRME |ROESRARR 3 0 0 3 0 0 0.7% 0.0%
women| THE | JRH% [EREAGERAR EARARK 3 0 0 3 0 0 0.7% 0.0%
women| BERE | SRME |EREASA T2 KAGRFR 2 0 0 2 0 0 0.5% 0.0%
women| BRE | SRME [ABHEERL S —HEAR 2 0 0 2 0 0 0.5% 0.0%
wormres| THE | JRM% [HAEMAA RER RBERRE 2 0 0 2 0 0 0.5% 0.0%
women| FERE | SREE |EREA LRE LAE=Ak 2 0 0 2 0 0 0.5% 0.0%
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BRRS EREM BisiA st

Saan Rinsd 2 ERAE ot | BRR | oM || CeEe | wen| SRR | ae=

0ER | mEm | 248 | XBRATEZHHERARE 0 167 14 23 54 26 50 27201 2.1h
0BR | Bem | 1% |musewmik [ 86 4 7 24 24 27 14.0%[1 1.1%
0124 | M 13 |HIt AR I 77 3 4 14 23 33 12.6%|! 1.0%
0ER | wEm | 26m [namizA BBHE XRAFESKEARR [ 75 6 5 33 9 22 12201 0.9%
01BR | mETm | 148 |[RARIABEA mIREDERRE [ 56 4 4 19 7 22 9.1%[l 0.7%
oBR | ®E® | 4% |EEImk 0 35 3 3 11 18 0 5. 7w[f 0.4%
0BRe | mEm | oM |FEaTERER 0 28 0 11 4 13 0 4.6 0.4%
0B | wET | EME [EREAENE RERNERR i 27 2 0 3 13 9 4.4 0.3%
0ER | Bem | 24m |BmunBzARTARRBARIRLERE S — | 16 7 0 0 0 9 2. 6% 0.2%
0Ef | ®RET | IRME |EREA EWZ HRAR I 15 0 15 0 0 0 2.4%)F 0.2%
0ER | Bem | 24m |HaEREAWEE BEAT/ALER i 14 0 7 2 5 0 2.3%)f 0.2%
0Ef | Bem | RME |Eewnlank I 7 0 0 12 0 0 2.0%)F 0.2%
0B | wEm | SRME [HaEMAA BELR SFLR 2 0 0 0 2 0 0.3% 0.0%
0BR | wETm | 3EME |[ARAZEEANERR 2 0 0 0 0 2 0.3% 0.0%
0Ef | Bem | RME |EREAAEEZ LEAR 1 0 1 0 0 0 0.2% 0.0%
2=E | mEm | 248 |ARENRRAFRR 7 231 26 20 42 50 93 54600 2.9%
w=8 | BET | 250 |[HREMAAELZ BRAR i 67 3 9 16 12 27 1584l 0.8%
w=E | Bam | oW |EREARAZ E-RAEARE i 3L 0 0 10 21 0 7.3 0.4%
2= | Bmm | 24w |EEEtTEER b 24 3 2 5 1 13 5. 7%[f 0.3%
V=B | AT | IRME |[EREARGE DORGEAR b 18 0 0 0 0 18 4.3%]F 0.2%
w=8 | xAT | 260 |HamEihiABBUEARREERRARRE i 7 0 1 6 5 0 2.8%)f 0.2%
W=B | BEm | RME [HaEREANES LEGARE I 10 3 0 4 3 0 2.4 0.1%
W=8 | AT | IRME |EREAESE AlRaRk I 3 0 0 8 0 0 1.0%ff 0.1%
w=8 | Bmm | RME |EREARER AR I 3 0 0 0 3 0 1.0%ff 0.1%
w=8 | xAT | EMES |EREAERE ERER 5 0 2 0 3 0 1.2% 0.1%
W=E | BEm | RME [XREREAXTE=BERR 4 0 0 2 2 0 0.9% 0.1%
w=8 | BET | 260 |[HEEREAGERALY 5 ERk 3 0 1 1 1 0 0.7% 0.0%
W=B | AT | IRME |[EREA BL2 EBoRk 1 0 0 1 0 0 0.2% 0.0%
w=8 | %AT | SEMES |EREARGERGERARR 1 0 0 1 0 0 0.2% 0.0%
03LAN | BAm | 24K |REEHATHERR G 368 24 24 59 52 209 50. 25| 4.6%
0iAm | ¥Om | 268 |MEEHATRAERELS— [ 95 4 3 22 25 36 13.04[1 1.2%
A | wOm | 2688 |"FU-voRERRES RTRARR b 41 1 5 12 6 17 56wt 0.5%
AR | fAm | 18T |mHUshLmk [ 40 3 4 11 5 17 5.5y 0.5%
AR | BT | SEME [HREMAAEDE ERAR i 30 2 1 9 6 12 4.1 0.4%
AN | ART | EME [EREAENE HRENEHR i 30 1 3 10 9 7 4.1 0.4%
03LAN | FOm | RME [HREREADE TORCEAR i 28 3 1 21 3 0 3.8 0.4%
03LAN | BEIIT | RME |HEEHATEERR b 24 0 7 4 3 0 3.3%]f 0.3%
AR | Bt | 260 |ERABARAMAEAZ WALEFR ] 16 0 0 10 6 0 220 0.2%
03iAm | BT | 268 |ErEEmEUS— i 14 0 0 3 10 1 1.0%ff 0.2%
03iAR | BEINT | 3EME |EREABLRMARER i 3 0 1 3 4 0 1.1%) 0.1%
03LAN | AET | RME |EREABHE XRTRER I 6 0 0 6 0 0 0.8%] 0.1%
0ILAN | mEET | SRME [HEEMAARER BESROESIARRE i 6 0 1 3 2 0 0.8%] 0.1%
03LAN | BRI | RS |[HaEREALE: BEIEHER 5 0 0 5 0 0 0.7% 0.1%
AN | wBm | SEMES [HaEMAARER XHAEkR 4 0 2 0 2 0 0.5% 0.1%
03kAM | FOT | RME [HEEREA TFOEHESRER 4 0 0 2 2 0 0.5% 0.1%
0LAR | BEINT | SREME |EREA—hE BARE 4 0 0 2 2 0 0.5% 0.1%
0HLAN | mEET | SRME |EREARNE LAREHAR 2 0 0 2 0 0 0.3% 0.0%
03LAN | BATm | RME |EREABNE SEAR 2 0 0 1 1 0 0.3% 0.0%
AR | MET | SRME [HaEMAAEER EERR 2 0 0 1 1 0 0.3% 0.0%
0iAR | BEINT | 3EME |EREAKER BAFE 2 0 2 0 0 0 0.3% 0.0%
03iLAn | BENT | SREME |[HaEmAALLSE  Flimk 1 0 0 1 0 0 0.1% 0.0%
03LAN | FIET | SRS |[HaEREALEE EBEHER 1 0 0 1 0 0 0.1% 0.0%
o4cAIN | BT 183 [\BHILRFR 1 94 10 19 22 18 25 25.6%|! 1.2%
AR | BART | 18T |RARIAREADIRARERES 53— [ 87 7 9 28 16 27 237! 1.1%
udAn | BT | SEME |EREARNE \RENZRARR [ 74 5 0 18 14 37 20201 0.9%
0B AA | HART | RME |EREABHE EOEERR i 64 3 6 10 18 27 17.4%|0 0.8%
AR | RART | 2681 [HREMAAELRESE -k b 16 0 1 11 0 4 4.4%)F 0.2%
udAn | BEG | 14T |naeRmRE i 11 0 1 6 4 0 3.006)F 0.1%
uEAn | \Bh | EME |ERR/\RGARK I 9 0 0 8 1 0 2.5%)F 0.1%
0B AA | AT | RME |EREAAARGRANGARR I 7 0 0 4 3 0 1.0%ff 0.1%
AR | RART | JEME |BERmR 2 0 1 1 0 0 0.5% 0.0%
AR | BART | SEME |EREAZER bEmE 2 0 0 2 0 0 0.5% 0.0%
4B AN | AT | SRME |EREA Elz EERR 1 0 0 1 0 0 0.3% 0.0%
OSEAN | KRBT | 24K |BEATRE [0 193 20 14 47 35 77 52.9%|1 2.4%
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